: WORD SEARCH

WEEK #1 PUZZLE

6/1/23

-
nNuKENm ol v,z
ez <
HEEEEH L
AWASRWW Sﬂ O o
3]

i D|Z|Ig|¥[Z[W[O|T|<|F[F[D]/O|¥|DI|I¥[0O[m|O]|-|m|2
S |Zzlw(o|o[>[2|>|o|z|w[S|x|s|x|u|al>]a|lw|N|T|-]|o
Olw |2 | X[XIN|ININ|=[<|[-||0|Z[O|w ||| [X|uw|0|a O
Qo jwjwiIN|a[a [O|T|IX|IF|IO|Z[F|O|F|F[>[T[(a(>|>|<|>[>
Flo|lzo o |>0|Z|00laloMlc|v|o|S|BID|wlalT|x
sJlo[Zzlas|w|<|> = [>Flox|w|z|la|w|a|[a|jw|x|o|O|T|T
Ol—l@[o|m|O|[m|Sx|o|go|lo|a|z|-[S|X|[-|<|—[D]|D|w]|T
Sle|wlFlolol«lalzlz|lw|Zzle|lw|lw(>|Flulw]|a|S|zlu]|=]|O
Olo|w|>w(zle|_|lwlw|Ola|ofw|x|=>|wlwla|>[><z(N
Oo|loglwid|z|[>|w|o|w|[>w|c(>N|F|—|w|v|o[O|a|[O]|_
gl<(F|w|u|w|E[N[T|T|uw |[>|O[a[X|Z|IN[D[>[T|[Z]|0]|0|n |0
<Ol ||<|—|[—[[Z[D]|0|>|w[S2[>IN|[F|O|F[>][O[X|[—|a|W
S |%|lw|Sl-lTiS-Mlw(z|S]a|alalc|o|>Elo|go]>]|0[x
20|10|F|w [Z|o(N|[F[F|W|a|Z2[<[N[-]|0|0|Z|>[a(>[Z2|T]|0
O[> |X|d|F[m[Z[Z2|>|>|Da|w|[>|> > [DIN[X[E|ZS|—]|2
D(WO|O|Om[a [T |ON[N[X|[>|w |[TIN[Z[T|T|W|— [N+
X|T[>|o|s|Zz|o|a>|o|z|_ (<> |D|_[S[ZD|-|o|n|[
N[> [> ][> |glw|[S||=|E |- |Z|0|a|O|>|a|<|O]|-|C
Xla[¢|ale|lo|S s [N|—|X[>|[—[Z|N|> >0 |x|w|_[D|w
2w s [S|xlolg|l-|go|Z[EN|Fo|a|x|o|Z|-[TZ|n|T|Z
-4 I B -4 M = T S P P = N (O o fe A =R N B N D N e e -
¥ [x[¥lw|Slw|l<[_[>>|<]|=[S|[wn|[S|o|X|O|uw|[—|o|w|x|[Z[>D
IF[OIZ[F|O[> 0[O [<|O0|Z[_|X¥[0o|la|[Z|=[D|N[D]|W|N
2| TIZ|[>IX|ID[0|=[0]|2[n]|=[0]|=[=|ElSINIE|=I=Z]O|O | |wxn
olwlo|N[glo|Z[Zz|F|o2|Zz|lw>|—|aDx|u|z|x|x|O0|Z[D




